EXHIBIT 1

Client Time By Project

Print | Close Window

Client: Knight Transport CA - 207

Time Date Range: 1/1/2001 through 1/1/2051 Refresh

Date	Client Name	Project	Description	Net Hours	Rate	Amount	Invoiced	Uninvoiced
2/19/2019	Knight Transport CA - 207	Amanda Lutsock	Updated the MCL with OPC's information.	0.07	\$350.00	\$23.33	\$0.00	\$23.33
PROJECT TO	ΓAL			0.07		\$23.33	\$0.00	\$23.33
2/1/2017	Knight Transport CA - 207	Avi Kreitenberg	Case Management Conference	0.70	\$764.00	\$534.80	\$0.00	\$534.80
2/15/2017	Knight Transport CA - 207	Avi Kreitenberg	Rule 26(f) Conference	0.30	\$764.00	\$229.20	\$0.00	\$229.20
1/9/2018	Knight Transport CA - 207	Avi Kreitenberg	Drafting request for production of documents	1.08	\$764.00	\$827.67	\$0.00	\$827.67
1/10/2018	Knight Transport CA - 207	Avi Kreitenberg	Drafting requests for production and special interrogatories	1.47	\$764.00	\$1,120.53	\$0.00	\$1,120.53
5/15/2018	Knight Transport CA - 207	Avi Kreitenberg	Reviewing class cert motion in preparation for drafting reply	1.48	\$764.00	\$1,133.27	\$0.00	\$1,133.27
5/17/2018	Knight Transport CA - 207	Avi Kreitenberg	Reviewing opposition to class cert motion	1.32	\$764.00	\$1,005.93	\$0.00	\$1,005.93
5/18/2018	Knight Transport CA - 207	Avi Kreitenberg	Meeting with CJA re: reply ISO of class cert	1.50	\$764.00	\$1,146.00	\$0.00	\$1,146.00
5/22/2018	Knight Transport CA - 207	Avi Kreitenberg	Drafting reply ISO of class certification	9.25	\$764.00	\$7,067.00	\$0.00	\$7,067.00
5/23/2018	Knight Transport CA - 207	Avi Kreitenberg	Drafting reply ISO of class certification	0.75	\$764.00	\$573.00	\$0.00	\$573.00
5/23/2018	Knight Transport CA - 207	Avi Kreitenberg	Drafting reply ISO class certification	0.75	\$764.00	\$573.00	\$0.00	\$573.00

/23	3, 4:23 PM					Time By Proj			
	5/23/2018	Case 1:16 Knight Transport CA - 207	6-cv-01730- Avi Kreitenberg	Conference call with CJA SV RS and KM re: reply, revising reply ISO class certification	38-2 F 1.55		L4/23 Page \$1,184.20	\$0.00	\$1,184.20
	6/7/2018	Knight Transport CA - 207	Avi Kreitenberg	Reviewing D's surreply in opposition to class cert	1.00	\$764.00	\$764.00	\$0.00	\$764.00
	12/3/2018	Knight Transport CA - 207	Avi Kreitenberg	Reviewing class certification order	0.37	\$764.00	\$280.13	\$0.00	\$280.13
	4/21/2021	Knight Transport CA - 207	Avi Kreitenberg	emails w/ OPC, mediator (Rudy) + co-counsel re: upcoming mediation	0.20	\$764.00	\$152.80	\$0.00	\$152.80
	9/1/2022	Knight Transport CA - 207	Avi Kreitenberg	drafting joint status report	1.00	\$764.00	\$764.00	\$0.00	\$764.00
	10/26/2022	Knight Transport CA - 207	Avi Kreitenberg	meeting with CJA re revised settlement and preemption	0.70	\$764.00	\$534.80	\$0.00	\$534.80
	12/20/2022	Knight Transport CA - 207	Avi Kreitenberg	drafting PAM papers	5.90	\$764.00	\$4,507.60	\$0.00	\$4,507.60
	4/20/2023	Knight Transport CA - 207	Avi Kreitenberg	drafting CJA fees motion declaration	2.20	\$764.00	\$1,680.80	\$0.00	\$1,680.80
	4/25/2023	Knight Transport CA - 207	Avi Kreitenberg	drafting fees motion declaration	1.00	\$764.00	\$764.00	\$0.00	\$764.00
	PROJECT TO	ΓAL			32.52		\$24,842.73	\$0.00	\$24,842.73
	4/20/2021	Knight Transport CA - 207	Brian Denlinger	Began review of case file, motions (class cert), prior discovery and PMK documents, and other relevant documents and information to draft informal discovery requests. Began drafting informal discovery requests.	3.67	\$676.00	\$2,478.67	\$0.00	\$2,478.67
	4/21/2021	Knight Transport CA - 207	Brian Denlinger	Continued review of file and continued drafting informal discovery requests to be sent to cocounsel.	0.75	\$676.00	\$507.00	\$0.00	\$507.00

123	5, 4.23 FIVI			Times	9 - Ciletti	Tille by Floj	eCi.		
	4/23/2021	Case 1:16 Knight Transport CA - 207	S-cv-01730- Brian Denlinger	Made final changes to informal discovery after review of precertification requests (not helpful), and prepared to send to Sam/Craig.	0.42 F		L4/23 Page \$281.67	\$0.00	\$281.67
	4/26/2021	Knight Transport CA - 207	Brian Denlinger	Review of email correspondence from cja regarding informal discovery and opc's presumed defenses. Research into the points raised.	0.50	\$676.00	\$338.00	\$0.00	\$338.00
	4/29/2021	Knight Transport CA - 207	Brian Denlinger	Correspondence regarding informal discovery, quick review of order granting class cert, and sent class data requests to opc.	0.33	\$676.00	\$225.33	\$0.00	\$225.33
	PROJECT TO	TAL			5.67		\$3,830.67	\$0.00	\$3,830.67
	1/13/2016	Knight Transport CA - 207	Craig J. Ackermann	Fees hearing; Travel back to LA	4.70	\$919.00	\$4,319.30	\$0.00	\$4,319.30
	2/1/2016	Knight Transport CA - 207	Craig J. Ackermann	Drafted order re: fees and costs	1.00	\$919.00	\$919.00	\$0.00	\$919.00
	2/3/2016	Knight Transport CA - 207	Craig J. Ackermann	Drafted letter to court	1.20	\$919.00	\$1,102.80	\$0.00	\$1,102.80
	9/26/2016	Knight Transport CA - 207	Craig J. Ackermann	Edited complaint for follow-up case	1.30	\$919.00	\$1,194.70	\$0.00	\$1,194.70
	3/28/2017	Knight Transport CA - 207	Craig J. Ackermann	Call w OPC re: settlement	2.10	\$919.00	\$1,929.90	\$0.00	\$1,929.90
	4/3/2017	Knight Transport CA - 207	Craig J. Ackermann	Edits to motion to transfer venue	0.70	\$919.00	\$643.30	\$0.00	\$643.30
	5/2/2017	Knight Transport CA - 207	Craig J. Ackermann	Prep for call re: motion to change venue; Mtg with Sam re: same; Mtg with David Winston re: same; Emails to re: same	1.30	\$919.00	\$1,194.70	\$0.00	\$1,194.70
	5/3/2017	Knight Transport CA - 207	Craig J. Ackermann	Prep for hearing on venue; attended hearing	1.50	\$919.00	\$1,378.50	\$0.00	\$1,378.50

1/23	3, 4:23 PM			Time5	9 - Client	Time By Proje	ect		
	1/28/2018	Knight Transport	6-cv-01730- Craig J. Ackermann	Began prep for 30(b)(6) deposition; began assembling	38-2 F		\$1,102.80	\$0.00	\$1,102.80
		CA - 207 Knight		documents for deposition					
	1/29/2018	Transport CA - 207	Craig J. Ackermann	Prep for 30(b)(6) deposition	3.50	\$919.00	\$3,216.50	\$0.00	\$3,216.50
	1/29/2018	Knight Transport CA - 207	Craig J. Ackermann	Travel to Phoenix for D's 30(b)(6) deposition	2.50	\$919.00	\$2,297.50	\$0.00	\$2,297.50
	1/30/2018	Knight Transport CA - 207	Craig J. Ackermann	Took rule 30(b)(6) deposition of Defendant; Travel back to Los Angeles from Phoenix, AZ; Mtg with OPC re: settlement	5.30	\$919.00	\$4,870.70	\$0.00	\$4,870.70
	3/1/2018	Knight Transport CA - 207	Craig J. Ackermann	Work on class certification motion	1.70	\$919.00	\$1,562.30	\$0.00	\$1,562.30
	3/2/2018	Knight Transport CA - 207	Craig J. Ackermann	Edits to P's motion for class certification; CJA declaration ISO class certification; client declaration ISO class certification; proposed order ISO class certification. Meeting and emails with Sam Vahedi re: same	5.50	\$919.00	\$5,054.50	\$0.00	\$5,054.50
	5/17/2018	Knight Transport CA - 207	Craig J. Ackermann	Reviewed Knight opposition and began work on Reply ISO class certification	1.50	\$919.00	\$1,378.50	\$0.00	\$1,378.50
	5/22/2018	Knight Transport CA - 207	Craig J. Ackermann	Work with AK on reply ISO class certification	0.50	\$919.00	\$459.50	\$0.00	\$459.50
	5/30/2018	Knight Transport CA - 207	Craig J. Ackermann	Prep for class certification hearing; attended class certification hearing with Judge Drozd by phone; argued the motion	0.80	\$919.00	\$735.20	\$0.00	\$735.20
	12/13/2018	Knight Transport CA - 207	Craig J. Ackermann	Call w/ OPC re: class notice & Knight's Rule 26 (F) appeal.	0.70	\$919.00	\$643.30	\$0.00	\$643.30
	8/19/2019	Knight Transport	Craig J. Ackermann	Legal research re FMCSA pre-emption	0.70	\$919.00	\$643.30	\$0.00	\$643.30

12.	5, 4.23 FIVI			Times	9 - Client	Tillie by Floj	-		
		Case201716	6-cv-01730-	Skoe; Defeatemant of the OPC re P's position on this issue	38-2 	Filed 07/1	L4/23 Pag	e 6 of 20	
	8/28/2019	Knight Transport CA - 207	Craig J. Ackermann	Call w OPC re cross motions for summary judgement	0.50	\$919.00	\$459.50	\$0.00	\$459.50
	9/3/2019	Knight Transport CA - 207	Craig J. Ackermann	Calendared deadlines for MSJ	0.30	\$919.00	\$275.70	\$0.00	\$275.70
	3/24/2021	Knight Transport CA - 207	Craig J. Ackermann	emails w/ OPC re: mediators + dates + report to the court re: msj's	0.46	\$919.00	\$422.74	\$0.00	\$422.74
	3/25/2021	Knight Transport CA - 207	Craig J. Ackermann	call w/ Rahm re: case update; drafted joint updated report for magistrate	0.60	\$919.00	\$551.40	\$0.00	\$551.40
	4/13/2021	Knight Transport CA - 207	Craig J. Ackermann	call w/ OPC + review stip to push off CMC	0.50	\$919.00	\$459.50	\$0.00	\$459.50
	4/25/2021	Knight Transport CA - 207	Craig J. Ackermann	Emails to Brian + Sam re informal discovery; Legal research re D's defenses to P's claims in light of Oman, Ward + Teamsters	1.30	\$919.00	\$1,194.70	\$0.00	\$1,194.70
	4/29/2021	Knight Transport CA - 207	Craig J. Ackermann	Prep for call w magistrate; Reviewed class certification order; Emails w OPC re info + data needed for upcoming mediation	1.50	\$919.00	\$1,378.50	\$0.00	\$1,378.50
	6/2/2021	Knight Transport CA - 207	Craig J. Ackermann	edits to mediation brief	1.90	\$919.00	\$1,746.10	\$0.00	\$1,746.10
	6/2/2021	Knight Transport CA - 207	Craig J. Ackermann	Edits to mediation brief	1.90	\$919.00	\$1,746.10	\$0.00	\$1,746.10
	6/7/2021	Knight Transport CA - 207	Craig J. Ackermann	edits to mediation brief	0.70	\$919.00	\$643.30	\$0.00	\$643.30
	6/10/2021	Knight Transport CA - 207	Craig J. Ackermann	prep for mediation; mediation with Mark Rudy; Ayala oral argument; case did not settle	5.50	\$919.00	\$5,054.50	\$0.00	\$5,054.50

/23, 4:23 P	PM			Time5	9 - Client	Time By Proje	ect		
	(Case 1:16 Knight		SKO Document 8 Edits to settlement	38-2	Filed 07/1	L4/23 Page	e 7 of 20	
10/26	5/2021	Transport CA - 207	Craig J. Ackermann	agreement; Sent extensive redlines to OPC	3.60	\$919.00	\$3,308.40	\$0.00	\$3,308.40
11/1/2	2021	Knight Transport CA - 207	Craig J. Ackermann	Call w Richard Rahm to finalize settlement agreement + notice	0.70	\$919.00	\$643.30	\$0.00	\$643.30
11/9/	2021	Knight Transport CA - 207	Craig J. Ackermann	Edits to P's motion for preliminary approval, including the brief, my declaration + related papers	2.30	\$919.00	\$2,113.70	\$0.00	\$2,113.70
11/23	3/2022	Knight Transport CA - 207	Craig J. Ackermann	Reviewed settlement agreement for what happens if court denies approval; email to Richard Rahm re same	0.80	\$919.00	\$735.20	\$0.00	\$735.20
12/5/2	2022	Knight Transport CA - 207	Craig J. Ackermann	Call w/ Richard Rahm & Adrian re Motion for Reconsideration + Renewed Motion for Prelim Approval	0.70	\$919.00	\$643.30	\$0.00	\$643.30
12/20)/2022	Knight Transport CA - 207	Craig J. Ackermann	Research re revoking consent to magistrate	0.40	\$919.00	\$367.60	\$0.00	\$367.60
12/20)/2022	Knight Transport CA - 207	Craig J. Ackermann	Legal research re % of fees off gross, not claimed amounts; call w/ Adrian re magistrate's ruling + issues	1.10	\$919.00	\$1,010.90	\$0.00	\$1,010.90
4/24/2	2023	Knight Transport CA - 207	Craig J. Ackermann	Emails re extension of deadline to supply class list	0.30	\$919.00	\$275.70	\$0.00	\$275.70
6/2/20	023	Knight Transport CA - 207	Craig J. Ackermann	Emails w/ administrator re corrective notice postcard	0.30	\$919.00	\$275.70	\$0.00	\$275.70
PROJE	ECT TOTA	AL			63.06		\$57,952.14	\$0.00	\$57,952.14
10/11	/2016	Knight Transport CA - 207	Jaclyn Blackwell	called Tulare Court to figure out how to get conf. S&C back; searched Admin folders for Tulare website log-in info; added log-in info to master list; retrieved conformed	0.75	\$200.00	\$150.00	\$0.00	\$150.00

Case 1:16-cv-01730-Skimmins, cutment 88-2 Filed 07/14/23 Page 8 of 20 saved to drive, circulated.

10/11/2016	Knight Transport CA - 207	Jaclyn Blackwell	research on Agent for Service of Process; emailed issued Summons & conf. Complaint & CCCS to NWL for service on Agent and subsequent filing of POS with Court	0.50	\$200.00	\$100.00	\$0.00	\$100.00
10/18/2016	Knight Transport CA - 207	Jaclyn Blackwell	F/U with NWL on service to Agent; proofs received and saved to drive; follow-up calendared for responsive deadline	0.34	\$200.00	\$68.00	\$0.00	\$68.00
10/20/2016	Knight Transport CA - 207	Jaclyn Blackwell	Rc'd conformed POS from NWL, saved to drive, circulated	0.16	\$200.00	\$32.00	\$0.00	\$32.00
2/28/2018	Knight Transport CA - 207	Jaclyn Blackwell	Searched all emails, calendar, and case file for client's contact info and retainer; passed along info to RLS	0.60	\$200.00	\$120.00	\$0.00	\$120.00
3/5/2018	Knight Transport CA - 207	Jaclyn Blackwell	Per convo w/ RLS last week, emailed Ari/HL to get a copy of the signed retainer in this case	0.10	\$200.00	\$20.00	\$0.00	\$20.00
2/8/2019	Knight Transport CA - 207	Jaclyn Blackwell	Finalize & file P's declination of magistrate form; calendar all deadlines in Trial Scheduling Order	1.25	\$200.00	\$250.00	\$0.00	\$250.00
2/11/2021	Knight Transport CA - 207	Jaclyn Blackwell	Finalize & file Joint Report Re Stay	0.50	\$200.00	\$100.00	\$0.00	\$100.00
3/12/2021	Knight Transport CA - 207	Jaclyn Blackwell	Finalize & file Joint Report re Stay	0.30	\$200.00	\$60.00	\$0.00	\$60.00
3/15/2021	Knight Transport CA - 207	Jaclyn Blackwell	Finalize & file Errata re Joint Report (wrong dates on signature blocks)	0.30	\$200.00	\$60.00	\$0.00	\$60.00
4/22/2021	Knight Transport	Jaclyn Blackwell	Updated calendar & file re mediation;	0.40	\$200.00	\$80.00	\$0.00	\$80.00

Case20716-cv-01730-SHaQ in Conceument 88-2 Filed 07/14/23 Page 9 of 20

	CC/CCZG/10 01 01	750-charo illustreci il cit	00 _		1,20 . ag	0 01 20	
4/29/2021	Knight Transport Jaclyn CA - 207	Rc'd, saved, and updated calendar ell re Scheduling Order	0.30	\$200.00	\$60.00	\$0.00	\$60.00
6/3/2021	Knight Transport Blackw CA - 207	Circulated mediation confidentiality ell agreement to P's counsel in DocuSign	0.25	\$200.00	\$50.00	\$0.00	\$50.00
6/7/2021	Knight Transport Jaclyn CA - 207 Blackw	Finalized & served mediation brief w/ exhibits	0.75	\$200.00	\$150.00	\$0.00	\$150.00
10/11/2021	Knight Transport Jaclyn CA - 207 Blackw	Cumulative time to draft, finalize, and file Joint Notice of Settlement & Stip to Vacate Deadlines	1.50	\$200.00	\$300.00	\$0.00	\$300.00
11/10/2021	Knight Transport Jaclyn CA - 207 Blackw	Made CJA edits to PAM docs; made own edits for typos and formatting; finalized in PDF; compiled exhibits & signatures; submitted SA to LWDA; filed; prepared chambers copies; sent via runner; correspondence w/admin companies re bids	2.00	\$200.00	\$400.00	\$0.00	\$400.00
9/1/2022	Knight Transport Jaclyn CA - 207 Blackw	Finalize & file Joint ell Status Report	0.25	\$200.00	\$50.00	\$0.00	\$50.00
9/19/2022	Knight Transport Jaclyn CA - 207 Blackw	Finalize and file P's CONSENT to magistrate form	0.30	\$200.00	\$60.00	\$0.00	\$60.00
12/2/2022	Knight Transport Jaclyn CA - 207	Set conf call with all counsel	0.20	\$200.00	\$40.00	\$0.00	\$40.00
12/20/2022	Knight Transport Jaclyn CA - 207 Blackw	Review of emails; update & pull time/lodestar	0.25	\$200.00	\$50.00	\$0.00	\$50.00
1/4/2023	Knight Transport Jaclyn CA - 207	Pulled new sets of timesheets per co-counsel	0.05	\$200.00	\$10.00	\$0.00	\$10.00
1/30/2023	Knight Jaclyn Transport Blackw CA - 207	Downloaded, renamed, & saved conformed renewed PAM docs; updated calendar;	0.15	\$200.00	\$30.00	\$0.00	\$30.00

	Case 1:16	i-cv-01730-9	S <mark>ട്ടര</mark> ുil പ്രരാഗ്രന്മുട ്ടി8 re local rules	8-2	Filed 07/1	4/23 Page	10 of 20	
2/17/2023	Knight Transport CA - 207	Jaclyn Blackwell	Rc'd order re Supp Renewed PAM docs due & continuance of Renewed PAH; email to team re same; updated file	0.10	\$200.00	\$20.00	\$0.00	\$20.00
3/15/2023	Knight Transport CA - 207	Jaclyn Blackwell	Prepared & filed Notice of Change of Address for firm	0.15	\$200.00	\$30.00	\$0.00	\$30.00
3/27/2023	Knight Transport CA - 207	Jaclyn Blackwell	Review of PAO & attorney emails; updated file, calendar, tasks, & receivables re FAH date etc	0.30	\$200.00	\$60.00	\$0.00	\$60.00
3/29/2023	Knight Transport CA - 207	Jaclyn Blackwell	Updated file & calendar w/ admin timeline	0.25	\$200.00	\$50.00	\$0.00	\$50.00
4/25/2023	Knight Transport CA - 207	Jaclyn Blackwell	Review of attorney emails; updated file re D's unopposed ex parte	0.10	\$200.00	\$20.00	\$0.00	\$20.00
4/26/2023	Knight Transport CA - 207	Jaclyn Blackwell	Pulled signed order on ex parte; updated firm calendar; sent email updating Atticus and all counsel & requesting revised timeline	0.20	\$200.00	\$40.00	\$0.00	\$40.00
4/27/2023	Knight Transport CA - 207	Jaclyn Blackwell	Updated file & firm calendar re Atticus timeline	0.20	\$200.00	\$40.00	\$0.00	\$40.00
5/31/2023	Knight Transport CA - 207	Jaclyn Blackwell	Took call from class member and provided Atticus contact info so they can update their records	0.10	\$200.00	\$20.00	\$0.00	\$20.00
6/5/2023	Knight Transport CA - 207	Jaclyn Blackwell	Call w/ class member re submitting claim form; told him to send to me so I can send to Atticus (by email); later spoke with CM Chester per his VM from last week; left return VM to F. Romero; tried to call back Edward Peoples but	0.55	\$200.00	\$110.00	\$0.00	\$110.00

Case 1:16-cv-01730-SK@nb@owsment 88-2 Filed 07/14/23 Page 11 of 20 disconnected; took

disconnected; took call from another class member to confirm next steps

		class member to confirm next steps					
6/6/2023	Knight Jaclyn Transport Black CA - 207		0.10	\$200.00	\$20.00	\$0.00	\$20.00
6/13/2023	Knight Jaclyn Transport Black CA - 207		0.35	\$200.00	\$70.00	\$0.00	\$70.00
6/14/2023	Knight Transport Black CA - 207		0.30	\$200.00	\$60.00	\$0.00	\$60.00
6/15/2023	Knight Transport Jaclyn CA - 207 Blackt		0.15	\$200.00	\$30.00	\$0.00	\$30.00
6/19/2023	Knight Transport Black CA - 207		0.20	\$200.00	\$40.00	\$0.00	\$40.00
6/21/2023	Knight Jaclyn Transport Black CA - 207		0.20	\$200.00	\$40.00	\$0.00	\$40.00
6/23/2023	Knight Jaclyn Transport Black CA - 207		0.30	\$200.00	\$60.00	\$0.00	\$60.00
6/26/2023	Knight Transport Jaclyn CA - 207 Black		0.10	\$200.00	\$20.00	\$0.00	\$20.00

/23	, 4:23 PM			Time5	9 - Client	Time By Proje	ect		
	6/27/2023	Case 1:16 Knight Transport CA - 207	-cv-01730-S Jaclyn Blackwell	re deceased Class Member & referred her to Ann @ Atticus; emails re same + Juan Homero + Errol Pingue	8-2 F 0.10	iled 07/1 \$200.00		12 of 20 \$0.00	\$20.00
	6/30/2023	Knight Transport CA - 207	Jaclyn Blackwell	Took call from class member and explained claim form / process; left VM for Chris Burgos, a CM who called a few weeks ago and said he was going to email me his Claim Form (never rc'd); Chris called back and emailed me the claim form, which I saved & sent to Atticus!	0.30	\$200.00	\$60.00	\$0.00	\$60.00
	7/9/2023	Knight Transport CA - 207	Jaclyn Blackwell	Updated file w/ Dkt 87	0.05	\$200.00	\$10.00	\$0.00	\$10.00
	7/10/2023	Knight Transport CA - 207	Jaclyn Blackwell	Emails re firm time & costs; review of PAO re Fees / FAM deadlines	0.20	\$200.00	\$40.00	\$0.00	\$40.00
	7/11/2023	Knight Transport CA - 207	Jaclyn Blackwell	Took call from class member and confirmed process of submitting claim form; gathered firm's time & costs for Fees Mtn	0.65	\$200.00	\$130.00	\$0.00	\$130.00
	PROJECT TO	DTAL			16.15		\$3,230.00	\$0.00	\$3,230.00
	7/1/2021	Knight Transport CA - 207	Jules Bienenfeld		2.75	\$250.00	\$687.50	\$0.00	\$687.50
	7/22/2021	Knight Transport CA - 207	Jules Bienenfeld		2.00	\$250.00	\$500.00	\$0.00	\$500.00
	7/23/2021	Knight Transport CA - 207	Jules Bienenfeld		7.00	\$250.00	\$1,750.00	\$0.00	\$1,750.00
	8/2/2021	Knight Transport CA - 207	Jules Bienenfeld		7.00	\$250.00	\$1,750.00	\$0.00	\$1,750.00
	8/3/2021	Knight Transport CA - 207	Jules Bienenfeld		7.00	\$250.00	\$1,750.00	\$0.00	\$1,750.00

23, 4:23 PM	Case 1:16-cv-01730-SKO Document 88-2 Filed 07/14/23 Page 13 of 20 Knight									
	Case 1:16 Knight	-cv-01730-9	SKO Document 8	8-2 Fi	iled 07/1	4/23 Page	13 of 20			
8/6/2021	Transport CA - 207	Jules Bienenfeld		7.00	\$250.00	\$1,750.00	\$0.00	\$1,750.00		
PROJECT TO	ΓAL			32.75		\$8,187.50	\$0.00	\$8,187.50		
1/19/2018	Knight Transport CA - 207	Kaitlyn Morales	Prepared POS for 30b6 Depo Notice.	0.23	\$125.00	\$29.17	\$0.00	\$29.17		
1/19/2018	Knight Transport CA - 207	Kaitlyn Morales	Scheduled a court reporter and reserved a room for 1/31 30b6 Depo.	0.30	\$125.00	\$37.50	\$0.00	\$37.50		
1/19/2018	Knight Transport CA - 207	Kaitlyn Morales	Sent courtesy copy via email of Notice of Depo to OPC.	0.07	\$125.00	\$8.33	\$0.00	\$8.33		
2/6/2018	Knight Transport CA - 207	Kaitlyn Morales	Downloaded all files from Deposition. Organized server file.	0.10	\$125.00	\$12.50	\$0.00	\$12.50		
3/12/2018	Knight Transport CA - 207	Kaitlyn Morales	Update all class cert deadlines on google calendar and CJA's board.	0.20	\$125.00	\$25.00	\$0.00	\$25.00		
3/20/2018	Knight Transport CA - 207	Kaitlyn Morales	Updated google calendar and board with new class cert deadlines.	0.15	\$125.00	\$18.75	\$0.00	\$18.75		
3/27/2018	Knight Transport CA - 207	Kaitlyn Morales	Emails with RLS re. P's deadline to Reply to D's Opp to Class Cert Mtn.	0.10	\$125.00	\$12.50	\$0.00	\$12.50		
3/28/2018	Knight Transport CA - 207	Kaitlyn Morales	Emails re. P's Reply due date to D's Opp. for Class Cert Mtn; confimed and calendared.	0.20	\$125.00	\$25.00	\$0.00	\$25.00		
PROJECT TO	ΓAL			1.35		\$168.75	\$0.00	\$168.75		
2/28/2018	Knight Transport CA - 207	Laurie Ritz	Compare and highlight depo citations for CCM	1.00	\$200.00	\$200.00	\$0.00	\$200.00		
12/26/2018	Knight Transport CA - 207	Laurie Ritz	Reviewed court docket and confirmed calendar entry for 1/31/19	0.50	\$200.00	\$100.00	\$0.00	\$100.00		
PROJECT TO	ΓAL			1.50		\$300.00	\$0.00	\$300.00		
2/15/2017	Knight Transport CA - 207	Sam Vahedi	26(f) conference with OPC. Meeting with cocounsel	1.00	\$600.00	\$600.00	\$0.00	\$600.00		
4/3/2017	Knight Transport	Sam Vahedi	Legal research re venue transfer	1.50	\$600.00	\$900.00	\$0.00	\$900.00		

	Caae 2016-cv-0	01730-S KiQ i	opocument 8	8-2 Fi	led 07/1	4/23 Page	14 of 20	
5/5/2017	Knight Transport Sam CA - 207	Vahedi supp iso n	t revisions to blemental brief notion to sfer venue	2.40	\$600.00	\$1,440.00	\$0.00	\$1,440.00
5/8/2017	Knight Transport Sam CA - 207	Vahodi pape	lize opposition ers; prep for g; relevant legal arch	1.50	\$600.00	\$900.00	\$0.00	\$900.00
7/10/2017	Knight Transport Sam CA - 207		conference prep time)	1.40	\$600.00	\$840.00	\$0.00	\$840.00
7/18/2017	Knight Transport Sam CA - 207	vaneni	ew and revise report	1.80	\$600.00	\$1,080.00	\$0.00	\$1,080.00
7/27/2017	Knight Transport Sam CA - 207	30(b (incl Vahedi revie initia drafi	rt appearance)(6) conference , prep time); ew and revise al disclosures; t damage ulation model	5.60	\$600.00	\$3,360.00	\$0.00	\$3,360.00
1/18/2018	Knight Transport Sam CA - 207	with disco corro with disco PMK	espondence OPC re overy; espondence CC re overy; draft depo notice; vant research	2.80	\$600.00	\$1,680.00	\$0.00	\$1,680.00
1/19/2018	Knight Transport Sam CA - 207	with para Vahedi call v repo	rter; review revise depo	1.10	\$600.00	\$660.00	\$0.00	\$660.00
1/25/2018	Knight Transport Sam CA - 207	PMK with depo	with OPC re depo; meeting cocounsel re o; draft nded depo	1.30	\$600.00	\$780.00	\$0.00	\$780.00
1/29/2018	Knight Transport Sam CA - 207	Vahedi prio	ew docs from r cases in prep PMK depo	2.40	\$600.00	\$1,440.00	\$0.00	\$1,440.00
2/7/2018	Knight Transport Sam CA - 207	and Vahedi evid cert	ew discovery gather ence iso class motion; begin ting class cert on	7.60	\$600.00	\$4,560.00	\$0.00	\$4,560.00
2/8/2018	Knight Sam Transport CA - 207		inue parsing ugh evidence	4.30	\$600.00	\$2,580.00	\$0.00	\$2,580.00

Case 1:16-cv-01730-SKO Document 88-2 Filed 07/14/23 Page 15 of 20 motion

			modon					
2/9/2018	Knight Transport CA - 207	Sam Vahedi	Continue parsing through evidence iso class cert motion	2.00	\$600.00	\$1,200.00	\$0.00	\$1,200.00
2/12/2018	Knight Transport CA - 207	Sam Vahedi	Continue discovery review and class cert motion prep	6.20	\$600.00	\$3,720.00	\$0.00	\$3,720.00
2/20/2018	Knight Transport CA - 207	Sam Vahedi	Continue drafting class cert motion	5.30	\$600.00	\$3,180.00	\$0.00	\$3,180.00
2/20/2018	Knight Transport CA - 207	Sam Vahedi	Continue drafting class cert papers	7.50	\$600.00	\$4,500.00	\$0.00	\$4,500.00
2/22/2018	Knight Transport CA - 207	Sam Vahedi	Continue drafting class cert motion	5.10	\$600.00	\$3,060.00	\$0.00	\$3,060.00
2/23/2018	Knight Transport CA - 207	Sam Vahedi	Continue drafting class cert motion; relevant legal research	2.10	\$600.00	\$1,260.00	\$0.00	\$1,260.00
2/26/2018	Knight Transport CA - 207	Sam Vahedi	Meeting with client re depo prep; defend deposition of Brian Lee (incl. transportation time); meeting with client and cocounsel post- depo	9.80	\$600.00	\$5,880.00	\$0.00	\$5,880.00
2/26/2018	Knight Transport CA - 207	Sam Vahedi	Continue drafting Class Cert Motion	3.30	\$600.00	\$1,980.00	\$0.00	\$1,980.00
2/27/2018	Knight Transport CA - 207	Sam Vahedi	Continue drafting class cert motion; client decl.; JH decl; CJA decl; proposed order; MP&A	10.90	\$600.00	\$6,540.00	\$0.00	\$6,540.00
2/28/2018	Knight Transport CA - 207	Sam Vahedi	Finalize class cert papers; prepare exhibits; draft declarations; call with client re declaration; send docusign to client; relevant legal research; correspondence with cocounsel	13.80	\$600.00	\$8,280.00	\$0.00	\$8,280.00
3/1/2018	Knight Transport CA - 207	Sam Vahedi	Meeting with cocounsel re class cert; review and	8.80	\$600.00	\$5,280.00	\$0.00	\$5,280.00

Case 1:16-cv-01730-SKeQse Descurrent 88-2 Filed 07/14/23 Page 16 of 20 motion papers

				motion papers					
5/17/2018 Transport CA - 207 Sam Vahedi cert opp.; relevant research 0.70 \$600.00 \$420.00 \$400.00 \$420.0	3/2/2018	Transport	Sam Vahedi	cert filing; prep exhibits for filing; meeting with cocounsel re adding new sections; draft RJN; file via ECF; correspondence with court clerk re courtesy copies; order delivery of	7.20	\$600.00	\$4,320.00	\$0.00	\$4,320.00
5/18/2018 Knight Transport CA - 207 Sam Vahedi review docs and revise review docs and revise review docs and research 0.60 \$600.00 \$360.00	5/17/2018	Transport	Sam Vahedi	cert opp.; relevant	0.70	\$600.00	\$420.00	\$0.00	\$420.00
5/22/2018 Knight Transport CA - 207 Sam Vahedi relevant legal research 3.90 \$600.00 \$2,340.00 \$0.00 \$2,340.00 5/23/2018 Knight Transport CA - 207 Sam Vahedi research Review and revise class cert reply; prep for filing; conference call with cocounsel 6.30 \$600.00 \$3,780.00 \$0.00 \$3,780.00 7/31/2018 Knight Transport CA - 207 Sam Vahedi red ates and deadlines 0.20 \$600.00 \$120.00 \$0.00 \$120.00 12/3/2018 Knight Transport CA - 207 Sam Vahedi Review court's class end deadlines 0.90 \$600.00 \$540.00 \$0.00 \$540.00 12/25/2018 Knight Transport CA - 207 Sam Vahedi Permission to File Appeal; relevant legal research 4.60 \$600.00 \$2,760.00 \$0.00 \$2,760.00 12/26/2018 Knight Transport CA - 207 Sam Vahedi Permission to File Appeal; relevant legal research 8.50 \$600.00 \$5,100.00 \$0.00 \$5,100.00 \$5,100.00 12/27/2018 Knight Transport CA - 207 Sam Vahedi Permission to File Appeal; relevant legal research 8.50 \$600.00 \$5,520.00 \$0.00 \$5,520.00	5/18/2018	Transport	Sam Vahedi	class cert strategy; review docs and	0.60	\$600.00	\$360.00	\$0.00	\$360.00
5/23/2018Knight Transport CA - 207Sam Vahed sometime conference call with cocounsel6.30\$600.00\$3,780.00\$0.00\$3,780.007/31/2018Knight Transport CA - 207Sam Vahedi cert order and case docs; correspondence with cc0.20\$600.00\$120.00\$0.00\$120.0012/3/2018Knight Transport CA - 207Sam Vahedi CA - 207Review court's class cert order and case docs; correspondence with cc0.90\$600.00\$540.00\$0.00\$540.0012/25/2018Knight Transport CA - 207Sam Vahedi Permission to File Appeal; relevant legal research4.60\$600.00\$2,760.00\$0.00\$2,760.0012/26/2018Knight Transport CA - 207Sam Vahedi Permission to File Appeal; relevant legal research8.50\$600.00\$5,100.00\$0.00\$5,100.0012/27/2018Knight Transport CA - 207Sam Vahedi 	5/22/2018	Transport	Sam Vahedi	class cert reply; relevant legal	3.90	\$600.00	\$2,340.00	\$0.00	\$2,340.00
Transport Sam Vahedi Review court's class CA - 207 Sam Vahedi Review court's class Cart order and case O.90 \$600.00 \$540.00 \$0.00 \$540.00 \$5	5/23/2018	Transport	Sam Vahedi	class cert reply; prep for filing; conference call with	6.30	\$600.00	\$3,780.00	\$0.00	\$3,780.00
12/3/2018Knight Transport CA - 207Sam Vahedi cert order and case docs; correspondence with cc0.90\$600.00\$540.00\$0.00\$540.0012/25/2018Knight Transport CA - 207Sam Vahedi Sam Vahedi 	7/31/2018	Transport	Sam Vahedi	meeting with staff re dates and	0.20	\$600.00	\$120.00	\$0.00	\$120.00
12/25/2018Knight Transport CA - 207Sam Vahedi Petition for 	12/3/2018	Transport	Sam Vahedi	cert order and case docs; correspondence	0.90	\$600.00	\$540.00	\$0.00	\$540.00
12/26/2018 Knight Transport CA - 207 Sam Vahedi Petition for Permission to File Appeal; relevant legal research 12/27/2018 Knight Transport CA - 207 Sam Vahedi Permission to File Appeal; relevant legal research 12/27/2018 Knight Transport CA - 207 Permission to File Permission to File Permission to File Permission to File	12/25/2018	Transport	Sam Vahedi	Opposition to Petition for Permission to File Appeal; relevant	4.60	\$600.00	\$2,760.00	\$0.00	\$2,760.00
Transport Opposition to CA - 207 Petition for Permission to File	12/26/2018	Transport	Sam Vahedi	Opposition to Petition for Permission to File Appeal; relevant	8.50	\$600.00	\$5,100.00	\$0.00	\$5,100.00
	12/27/2018	Transport	Sam Vahedi	Opposition to Petition for Permission to File	9.20	\$600.00	\$5,520.00	\$0.00	\$5,520.00

120), 4.23 FIVI			Times	9 - Chent i	ille by Floje	J Cl		
		Case 1:16	-cv-01730-5	Skegal reseauthent 8 register for EFC; efile	8-2 Fi	led 07/1	4/23 Page	17 of 20	
	1/31/2019	Knight Transport CA - 207	Sam Vahedi	Review and revise joint statement; calls and correspondence with CC and OPC	1.80	\$600.00	\$1,080.00	\$0.00	\$1,080.00
	2/6/2019	Knight Transport CA - 207	Sam Vahedi	Correspondence with cocounsel; prep for scheduling conference.	1.50	\$600.00	\$900.00	\$0.00	\$900.00
	2/7/2019	Knight Transport CA - 207	Sam Vahedi	Scheduling conference; correspondence with cocounsel; relevant legal research	0.80	\$600.00	\$480.00	\$0.00	\$480.00
	3/15/2019	Knight Transport CA - 207	Sam Vahedi	Review and analyze sample data sent by D; correspondence with cocounsel	0.80	\$600.00	\$480.00	\$0.00	\$480.00
	3/18/2019	Knight Transport CA - 207	Sam Vahedi	Conference call with OPC re class data; review and analyze data; research re formulas; correspondence with OPC; correspondence with CC	3.30	\$600.00	\$1,980.00	\$0.00	\$1,980.00
	3/28/2019	Knight Transport CA - 207	Sam Vahedi	Correspondence with OPC	0.10	\$600.00	\$60.00	\$0.00	\$60.00
	5/31/2019	Knight Transport CA - 207	Sam Vahedi	Review correspondence; begin drafting written discovery	3.50	\$600.00	\$2,100.00	\$0.00	\$2,100.00
	6/3/2019	Knight Transport CA - 207	Sam Vahedi	Continue drafting discovery	1.00	\$600.00	\$600.00	\$0.00	\$600.00
	7/19/2019	Knight Transport CA - 207	Sam Vahedi	Draft discovery; meeting with CC	6.20	\$600.00	\$3,720.00	\$0.00	\$3,720.00
	8/28/2019	Knight Transport CA - 207	Sam Vahedi	Meet and confer conference call with OPC re MSJs; meeting with CC	0.70	\$600.00	\$420.00	\$0.00	\$420.00
	10/14/2019	Knight Transport CA - 207	Sam Vahedi	Correspondence with CC; correspondence with OPC	0.20	\$600.00	\$120.00	\$0.00	\$120.00

1/2	3, 4:23 PM			Time5	9 - Client T	īme By Proje	ect		
	4/20/2020	Knight	-cv-01730-5 Sam Vahedi	Review briefs in related case affecting Knight; correspondence with CC re potential amicus brief; legal research and investigation	8-2 Fi		4/23 Page \$2,940.00	18 of 20 \$0.00	\$2,940.00
	2/9/2021	Knight Transport CA - 207	Sam Vahedi	Draft joint report; case review; correspondence with CC	2.30	\$600.00	\$1,380.00	\$0.00	\$1,380.00
	2/10/2021	Knight Transport CA - 207	Sam Vahedi	Case review; correspondence with OPC; research re preemption status et al	2.20	\$600.00	\$1,320.00	\$0.00	\$1,320.00
	2/11/2021	Knight Transport CA - 207	Sam Vahedi	Review revisions to joint report; prep for filing; correspondence with staff	0.80	\$600.00	\$480.00	\$0.00	\$480.00
	3/12/2021	Knight Transport CA - 207	Sam Vahedi	Draft and finalize status conference statement; correspondence with team; correspondence with OPC	1.80	\$600.00	\$1,080.00	\$0.00	\$1,080.00
	3/18/2021	Knight Transport CA - 207	Sam Vahedi	Review court's minute order; relevant research and case review	0.60	\$600.00	\$360.00	\$0.00	\$360.00
	3/19/2021	Knight Transport CA - 207	Sam Vahedi	Review docket; team emails	0.20	\$600.00	\$120.00	\$0.00	\$120.00
	3/25/2021	Knight Transport CA - 207	Sam Vahedi	Conference call with OPC	0.70	\$600.00	\$420.00	\$0.00	\$420.00
	4/5/2021	Knight Transport CA - 207	Sam Vahedi		0.70	\$600.00	\$420.00	\$0.00	\$420.00
	4/9/2021	Knight Transport CA - 207	Sam Vahedi	Research re court admission requirements; correspondence with CC; draft application	0.70	\$600.00	\$420.00	\$0.00	\$420.00
	5/12/2021	Knight Transport CA - 207	Sam Vahedi	Begin drafting mediation brief	7.20	\$600.00	\$4,320.00	\$0.00	\$4,320.00
	5/14/2021	Knight Transport CA - 207	Sam Vahedi		3.60	\$600.00	\$2,160.00	\$0.00	\$2,160.00

/23, 4:23 P	NI NI					ime By Proje			
5/17/	'2021		-cv-01730-S Sam Vahedi	SKO Document 8	8-2 Fi 8.30		4/23 Page \$4,980.00	19 of 20 \$0.00	\$4,980.00
5/18/	'2021	Knight Transport CA - 207	Sam Vahedi	Work on mediation brief docs, et al	9.20	\$600.00	\$5,520.00	\$0.00	\$5,520.00
5/19/	/2021	Knight Transport CA - 207	Sam Vahedi	Work on mediation brief docs, et al	6.10	\$600.00	\$3,660.00	\$0.00	\$3,660.00
5/20/	/2021	Knight Transport CA - 207	Sam Vahedi	Work on mediation brief docs, et al	5.90	\$600.00	\$3,540.00	\$0.00	\$3,540.00
5/21/	'2021	Knight Transport CA - 207	Sam Vahedi	Work on mediation brief docs, et al; Correspondence with staff and CC	5.80	\$600.00	\$3,480.00	\$0.00	\$3,480.00
5/24/	'2021	Knight Transport CA - 207	Sam Vahedi	Continue drafting mediation brief and reviewing docs and data; relevant legal research	2.90	\$600.00	\$1,740.00	\$0.00	\$1,740.00
6/1/2	021	Knight Transport CA - 207	Sam Vahedi	Revisions to mediation brief; correspondence with CC; case file review and discovery review	0.80	\$600.00	\$480.00	\$0.00	\$480.00
6/2/2	.021	Knight Transport CA - 207	Sam Vahedi	Revisions to mediation brief; correspondence with CC	1.70	\$600.00	\$1,020.00	\$0.00	\$1,020.00
6/9/2	.021	Knight Transport CA - 207	Sam Vahedi	Draft MOU; correspondence with CC	1.20	\$600.00	\$720.00	\$0.00	\$720.00
6/10/	'2021	Knight Transport CA - 207	Sam Vahedi	Additional damage modeling for mediation; Attend mediation	5.50	\$600.00	\$3,300.00	\$0.00	\$3,300.00
6/29/	'2021	Knight Transport CA - 207	Sam Vahedi	Conference call with staff re MSJ drafting; review evidence	0.60	\$600.00	\$360.00	\$0.00	\$360.00
8/3/2	021	Knight Transport CA - 207	Sam Vahedi	Case review; call with clerk re MSJ; begin work on MSJ papers	1.60	\$600.00	\$960.00	\$0.00	\$960.00
8/5/2	.021	Knight Transport CA - 207	Sam Vahedi	Call with clerk re MSJ; continue prep re MSJ	2.20	\$600.00	\$1,320.00	\$0.00	\$1,320.00
8/13/	'2021	Knight Transport CA - 207	Sam Vahedi		3.90	\$600.00	\$2,340.00	\$0.00	\$2,340.00

23, 4:23 PM			Time5	9 - Client Time By Project					
9/27/2021	Case 1:16 Knight Transport CA - 207	-cv-01730-S Sam Vahedi	SKO Document 8 Correspondence re settlement	8-2 Fi 0.60	led 07/1 \$600.00	4/23 Page \$360.00	20 of 20 \$0.00	\$360.00	
9/28/2021	Knight Transport CA - 207	Sam Vahedi	Case review; draft stipulation; draft proposed order; correspondence with cc; correspondence with opc	2.10	\$600.00	\$1,260.00	\$0.00	\$1,260.00	
10/4/2021	Knight Transport CA - 207	Sam Vahedi	Correspondence with CC; work on settlement, et al	3.30	\$600.00	\$1,980.00	\$0.00	\$1,980.00	
10/29/202	Knight 1 Transport CA - 207	Sam Vahedi	Prep for conference call; dial into conference call (continued); correspondence with staff re call; correspondence with OPC re call; motion drafting	4.90	\$600.00	\$2,940.00	\$0.00	\$2,940.00	
11/1/2021	Knight Transport CA - 207	Sam Vahedi	Conference call with OPC re settlement; review of settlement docs.	1.40	\$600.00	\$840.00	\$0.00	\$840.00	
11/4/2021	Knight Transport CA - 207	Sam Vahedi	Work on settlement and approval papers	7.80	\$600.00	\$4,680.00	\$0.00	\$4,680.00	
11/5/2021	Knight Transport CA - 207	Sam Vahedi	Work on settlement and approval papers	8.30	\$600.00	\$4,980.00	\$0.00	\$4,980.00	
11/8/2021	Knight Transport CA - 207	Sam Vahedi	preliminary approval motion drafting	8.10	\$600.00	\$4,860.00	\$0.00	\$4,860.00	
11/9/2021	Knight Transport CA - 207	Sam Vahedi	Draft MPA and settlement papers; damage modeling spreadsheets	8.30	\$600.00	\$4,980.00	\$0.00	\$4,980.00	
11/10/202	Knight 1 Transport CA - 207	Sam Vahedi	Draft MPA and settlement papers	10.30	\$600.00	\$6,180.00	\$0.00	\$6,180.00	
PROJECT TOTAL						\$184,800.00	\$0.00	\$184,800.00	
GRAND TOTAL						\$283,335.12	\$0.00	\$283,335.12	